Solutions to Selected END-OF-CHAPTER Problems Chapter 10

1.
I = 18000*.045*(18/12) [image: image1.wmf]ENTER

 $1,215

MV = 18000 + $1215 [image: image2.wmf]ENTER

 $19,215

3.
I = prt 
18000*.0725*(9/12) [image: image3.wmf]ENTER

$978.75

MV = P + I

18000 + 978.75 [image: image4.wmf]ENTER

$18,978.75

For # 4 – 9, a year must be assigned to the dates in order to use the TI-83/84 calculator to compute the number of days (Exact time). Here we will use 2010 as the year.
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Press the [image: image6.wmf]APPS

 button. 

The APPLICATIONS screen will appear.
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Press 1: Finance

The screen should appear as follows:

[image: image8.emf]
Scroll down to D: dbd(
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Press [image: image10.wmf]ENTER


(dates for problem number 4) Enter the dates for “date borrowed” and “date repaid.”

Date borrowed: March 8, 2010

Date repaid: June 9, 2010

 dbd(03.0810,06.0910)

Press [image: image11.wmf]ENTER
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The calculator shows that the “exact time” is 93 days.

4.
I = prt 
1000*.08*(93/360) [image: image13.wmf]ENTER

20.66666667 which is $20.67

MV = P + I 

1000 + 20.67 [image: image14.wmf]ENTER

$1,020.67

5.
Press the [image: image15.wmf]APPS

 button. 

The APPLICATIONS screen will appear.
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Press 1: Finance

The screen should appear as follows:

[image: image17.emf]
Scroll down to D: dbd(
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Press [image: image19.wmf]ENTER


Enter the dates for “date borrowed” and “date repaid.”

Date borrowed: June 5, 2010

Date repaid: Dec 15, 2010


dbd(06.0510,12.1510)

Press [image: image20.wmf]ENTER
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The calculator shows that the “exact time” is 193 days.

I = prt 
585*.09*(193/360) [image: image22.wmf]ENTER

28.22625 which is $28.23

MV = P + I 

585 + 28.23 [image: image23.wmf]ENTER

$613.23

For #7, use dates from #4

7.
I = prt 
1000*.08*(93/365) [image: image24.wmf]ENTER

20.38356164 which is $20.38

MV = P + I 

1000 + 20.38 [image: image25.wmf]ENTER

$1,020.38

9.
Enter the dates for “date borrowed” and “date repaid.”

 Date borrowed: July 7, 2010

Date repaid: Jan 10, 2011

dbd(.07.0710,01.1011)   = 187

I = prt 
1200*.12*(187/365) [image: image26.wmf]ENTER

73.77534247 which is $73.78

MV = P + I 

1200 + 73.78 [image: image27.wmf]ENTER

$1,273.78

11.
I = prt

200 = p * .07 * 1.5

200 = .105p

[image: image28.wmf]200.105
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p

=


p = 1904.761905

p = $1,904.76

13.
I = prt

On day 100, payment of $4,000:

I = prt

I = 10000 * .08 * (100/360)

I = $222.22

Amount toward principal: $4,000 – $222.22 = $3,777.78

Adjusted balance: $10,000 – $3,777.78 = $6,222.22

On day 180 (80 days later), payment of $2,000:

I = prt

I = 6222.22 * .08 * (80/360)

I = $110.62

Amount toward principal: $2,000 – $110.62 = $1,889.38

Adjusted balance: $6,222.22 – $1,889.38 = $4,332.84

On day 240 (60 days later), balance is due

I=prt

I = 4332.84 * .08 * (60/360)

I = $57.77

Balance due = $4,332.84 + $57.77 = $4,390.61

Total interest paid = $222.22 + $110.62 + $57.77 = $390.61

15.
I=prt

I = 15000 * .055 * (9/12)

I = $618.75

MV = P + I

MV = 15000 + 618.75

MV = $15,618.75

17.
Enter the dates for “date borrowed” and “date repaid.”

Date borrowed: Sept 12, 2010
Date repaid: Jan 27, 2011

dbd(09.1210,01.2711)
= 137

I = prt 
2300*.09*(137/365) [image: image29.wmf]ENTER

77.69589041 which is $77.70

MV = P + I 

2300 + 77.70 [image: image30.wmf]ENTER

 $2,377.70

Save: $2,378.78 – $2,377.70 [image: image31.wmf]ENTER

 $1.08

19.
Interest = Ending Amount – Deposit Amount = $1,650 – $1,200 = $450

I = prt

450 = 1200 * .08 * t

450 = 96t

[image: image32.wmf]45096

9696

t

=


t = 4.6875 = 4.7 years (rounded to the tenths place)

20. April has 30 days

I = prt

125 = p * .12 * (30/360)

125 = .01p

[image: image33.wmf]125.01

.01.01

p

=


p = $12,500

21.
Press the [image: image34.wmf]APPS

 button. 

The APPLICATIONS screen will appear.
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Press 1: Finance

The screen should appear as follows:

[image: image36.emf]
Scroll down to D: dbd(
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Press [image: image38.wmf]ENTER


Enter the dates for “date borrowed” and “date repaid.”

Date borrowed:  April 5, 2010

Date repaid: Mar 9, 2011

dbd(04.0510,03.0911)

= 338

Press [image: image39.wmf]ENTER
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The calculator shows that the “exact time” is 338 days.

I = prt 
20000*.085*(338/360) [image: image41.wmf]ENTER

1596.111111 which is $1,596.11

MV = P + I 

20000 +1596.11 [image: image42.wmf]ENTER

 $21,596.11

23.
I = prt

On day 45, payment of $700:

I = prt

I = 2000 * .10 * (45/360)

I = $25.00

Amount toward principal: $2,000 – $25.00 = $675

Adjusted balance: $2,000 – $675 = $1,325

On day 75 (30 days later), payment of $630:

I = prt

I = $1,325 * .10 * (30/360)

I = $11.04

Amount toward principal: $630 – $11.04 = $618.96

Adjusted balance: $1,325 – $618.96 = $706.04

On day 120 (45 days later), balance is due

I=prt

I = 706.04 * .10* (45/360)

I = $8.83

Balance due = $706.04 + $8.83 = $714.87

Total interest paid = $25 + $11.04 + $8.83 = $44.87

25. 

a.
I=p*r*t 
$3500 * .0475 * (5/12) [image: image43.wmf]ENTER

 69.27083333 =$69.27 interest

MV = P + I 

$3500 + $69.27 [image: image44.wmf]ENTER

 $3569.27

b.
I=p*r*t 
$3500 * .0275 * (5/12) [image: image45.wmf]ENTER

 40.10416667 = $40.10 interest

MV = P + I 

$3500 + $40.10 [image: image46.wmf]ENTER

 $3540.10

27.
Use dates from # 26.

Enter the dates for “date borrowed” and “date repaid.”

 Date borrowed: Sept 14, 2010

Date repaid: Jan 27, 2011

dbd(09.1410,01.2711)

= 135
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I = prt 
2500*.1175*(135/365) [image: image48.wmf]ENTER

108.6472603 which is $108.65

MV = P + I 

2500 +108.65 [image: image49.wmf]ENTER

 $2,608.65

29.
June has 30 days

I = prt

195 = p * .125 * (30/360)

.125 * (30/360) [image: image50.wmf]MATH

[image: image51.wmf]FRAC

[image: image52.wmf]ENTER

1/96

So:

195 = (1/96) p

Divide both sides by (1/96)

OR multiply both sides by 96
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or 
[image: image54.wmf]1
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p = $18,720

31.
I = prt

15 = 740 * r * (59/360)

740 (59/360) [image: image55.wmf]MATH

[image: image56.wmf]FRAC

[image: image57.wmf]ENTER

 2183/18
15 = [image: image58.wmf]2183

18

r

Multiply both sides of the equation by [image: image59.wmf]18

2183

:

[image: image60.wmf]18218318
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r = .123683005 = 12.37 % rounded to the nearest hundredth percent

33.
I = prt

6.60 = 300 * .11 * t

6.60 = 33t

[image: image61.wmf]6.6033

3333

t

=


t = .2 years

.2 * 360 = 72 days

35.
Need to earn $23,000 – $22,500 = $700 in interest to have enough to pay for the plows.

I = prt

700 = 22500 * r * (200/360)

700 = 12500 r 

[image: image62.wmf]70012500

1250012500

r

=


r = .056 = 5.6 % 

37.
a.
First, $100 discount (trade discount). Then, 2 % discount (2/10, n/30).

$600 – $100 = $500

$500 * .98 = $490 (amount financed at 8%)

I = prt

I = 480 * .08 * (20/360)

I = $2.18


b.
$1,600 * .75 = $1,200 ( 25% trade discount)

1.)
$50 * 17  [image: image63.wmf]ENTER

 $850

Last payment = $1,200 – $850 [image: image64.wmf]ENTER

 $350

2.)
I= $1,200 * .08 * (18/12)

I = $144

$1,200 + $144 [image: image65.wmf]ENTER

$1,344

$1,344/18 = $74.67

b.
Difference between final payment of option 1 & 2 = $350 – $74.67 = $275.33

24
33

